
ADJECTIVE OR ADVERB: EXERCISE #1
NAME:________________________________________________________________

DIRECTIONS: Underline the correct word in parentheses. In the space provided below each 
sentence, write either ADJECTIVE or ADVERB and what it modifies. If it's a predicate adjective 
following a linking verb, write PREDICATE ADJECTIVE and the verb it completes. 

                      

1. Bilbo opened his eyes (quick, quickly) in the dark.

    ______________________________________________________

2. The room remained (dark, darkly) in front of his face.

    ______________________________________________________

3. He crawled (slow, slowly) until he touched the wall of the tunnel.

    ______________________________________________________

4. The poor hobbit seemed (uneasy, uneasily) about his current state.

   ____________________________________________________

5. Mr. Baggins must have felt (miserable, miserably) as he imagined his own kitchen at home.

    ______________________________________________________

DIRECTIONS: If the capitalized word is incorrect in the sentence below, substitute the correct 
form.

1. Bilbo sounded SADLY as he spoke to himself in the darkness.  

2. He felt the dagger in his pocket CAREFUL.

3. The hilt of the little sword fit into his hand PERFECT.

4. Hobbit holes are built DIFFERENTLY than goblin tunnels.

5. Hobbits recover quite WONDERFUL from falls and bruises.



ADJECTIVE OR ADVERB: EXERCISE #2

NAME:________________________________________________________________

DIRECTIONS: Underline the correct word in parentheses. In the space provided below each 
sentence, write either ADJECTIVE or ADVERB and what it modifies. If it's a predicate adjective 
following a linking verb, write PREDICATE ADJECTIVE and the verb it completes. 

1. Bilbo could see the mountains (easy, easily) in front of him. 

    ______________________________________________________

2. He glimpsed the lowlands and plains (occasional, occasionally) between the trees.

    ______________________________________________________

3. A hobbit's voice must sound (different, differently) when it echoes off the mountains. 

    ______________________________________________________

4. The dwarves could have been hurt (bad, badly) in their encounter with the goblins.

   ____________________________________________________

5. They should have been talking (quieter, more quietly) with Gandalf in the dell. 

    ______________________________________________________

DIRECTIONS: If the capitalized word is incorrect in the sentence below, substitute the correct 
form.

1. Tell your story GOOD, Mr. Baggins. 

2. Balin performed BAD as a look-out man.

3. Gandalf blinded the the goblins GOOD with a sudden flash.

4. Bilbo could see just as WELL with his ring on. 

5. Dori felt BADLY about dropping Bilbo.
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